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1. Given below are the ages of 40 people in a colony:

33 8 7 28 30 25 6 50 24 44
56 32 27 21 17 62 58 16 14 19
24 31 27 5 12 46 15 42 67 34
4 21 10 40 20 50 48 63 9 21

Taking class intervals 1-10, 11-20, 21-30, 31-40, 41-50, 51-60 and 61-70, we

construct a frequency distribution table for th above data.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gcXW4G6uQbm2

2. Represent the following frequency distribution by bar graph:

Valueof Variable 3 6 9 12 15
Frequency 6 10 4 3 8

o Watch Video Solution

3. Construct a histogram for the frequency distribution below:

Class Interval 10 —20 20—30 30 —40 40— 50 50— 60
Frequency 6 3 8 4 7

° Watch Video Solution

4. Construct a frequency polygon for the following data:

Class Interval 5—10 11 —-16 17—22 23 —28 29— 34 Total
Frequency 7 13 8 12 10 50

o Watch Video Solution

5.Draw a frequency curve for the data given below:

Class Interval 0—10 10—-20 20—30 30 —40 40—50 50— 60 60

Frequency 3 2 4 6 9 7

10


https://dl.doubtnut.com/l/_VeaSn3GFfto0
https://dl.doubtnut.com/l/_khzzzO3D3NiL
https://dl.doubtnut.com/l/_yiy6GF6tmaTC
https://dl.doubtnut.com/l/_maveAf73qPpa

° Watch Video Solution

6. For the given distribution, draw the less than and greater than

cumulative frequency curves.

Class Interval 0—-10 10—-20 20—-30 30 —40 40— 50 50— 60 60
Frequency ) 3 7 2 14 9 15

° Watch Video Solution

7. Find the mean of the first seven natural even numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_maveAf73qPpa
https://dl.doubtnut.com/l/_i0fZED8iEPRL
https://dl.doubtnut.com/l/_2j5XKvub5TIY

8. The population of 50 villages in a state is given below:

Population Number of villages

6000 8
7000 10
9000 12
10000 5
11000 7
13000 6
15000 2
Total 50

Find the mean population of the villages of the state.

o Watch Video Solution

9.Find the median of the following data:

1,12,5,3,7,13,9,23,17,1 and 6

o Watch Video Solution

10. Find the median of the data 11, 5, 3, 13, 16, 9, 18, 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_1awDv87VySOF
https://dl.doubtnut.com/l/_TSndAj94d8cj
https://dl.doubtnut.com/l/_HQ0lRGfDViNH

11. Find the mode of 1,0,2,1,0,2,3,1,3,1,0, 4, 2,4,1and 2.

o Watch Video Solution

12. Find the mode when median is 8 and mean is 10 of a data.

o Watch Video Solution

13. Calculate the arithmetic mean (AM) of the following data:

Salaries of Employees 0 — 10 10 —-20 20—30 30 —40 40— 50
(in thousand rupees)
Number of Employees 4 13 8 9 6

° Watch Video Solution

14. Given below is the data showing heights of 50 students in a class. Find

its median.

Height(in cm) 162 164 166 167 168 170 173 175 177 180
Number of Students 6 4 5 12 8 3 7 2 2 1


https://dl.doubtnut.com/l/_HQ0lRGfDViNH
https://dl.doubtnut.com/l/_1kghoxNtxJ06
https://dl.doubtnut.com/l/_GiyD2Qqsx1RS
https://dl.doubtnut.com/l/_OUa1e1IaxGJ2
https://dl.doubtnut.com/l/_c3j9Uw1EkGnS

° Watch Video Solution

15. Find the median of the following data:

Class Interval 0—10 10—20 20—30 30 —40 40— 50
f 6 8 5 4 7

° Watch Video Solution

16. The following information gives the marks scored by the students of a

class in an examination. Find the mode of the data.

Marks 1—-20 21 —40 41 —-60 61 —80 81— 100
Number of Students 3 18 23 37 19

° Watch Video Solution

17.Find the range of 1, 3, 8, 6, 2, 11, 10, 15 and 13.

° Watch Video Solution



https://dl.doubtnut.com/l/_c3j9Uw1EkGnS
https://dl.doubtnut.com/l/_65mAxwdMSvFV
https://dl.doubtnut.com/l/_RIZsUe8KLBYW
https://dl.doubtnut.com/l/_rUBxfnAXbPJe

18. Find @, for the data 23, 7,11,9, 15, 12, 20 and 18.

o Watch Video Solution

19. Find @, for the observations 13, 8, 11, 15, 19, 4 and 10.

o Watch Video Solution

20. The ages of 10 employees in an organization are 26, 23, 27, 33, 39, 43,

41,36, 42, 25. Find Q

o Watch Video Solution

21.Find Q5 for the data 8, 13, 18, 9, 20, 11.

o Watch Video Solution



https://dl.doubtnut.com/l/_cUCOoVBXULna
https://dl.doubtnut.com/l/_GO7ZwXebBKya
https://dl.doubtnut.com/l/_PGJnKMBOr0d7
https://dl.doubtnut.com/l/_ZymPtYb24nAj

22.Find semi-inter quartile range of the following data:

X367 9 10 11 13
f 29 13 17 10 14 15

o Watch Video Solution

23.The following table shows the distribution of the percentage of marks

of a group of students:

Percentage of Marks 30 — 40 40 —50 50 —60 60— 70 70— 80 80 —
Number of Students 4 11 3 7 5 2

° View Text Solution

24. Estimate the mode of the following data from the histogram.

Class Interval 0 —10 10—20 20—30 30—40 40—50 50— 60 60
Frequency 8 10 15 16 20 13 14

o Watch Video Solution



https://dl.doubtnut.com/l/_dArB7g0HQCkI
https://dl.doubtnut.com/l/_kQtXoFywzX12
https://dl.doubtnut.com/l/_Mn8WcmpBB5m4

25.Find the mean deviation of the following from median 13, 18, 15, 10, 17,

19 amd 21.

° Watch Video Solution

26. Find the mean deviation about mean for the following data:

z 1379 13 14
F 25863 1

° Watch Video Solution

27. Find mean deviation for the following data about median:

Class Interval 5—9 10—14 15—19 20—24 25— 29
f 5 9 12 8 6

° View Text Solution

Very Short Answer Type Questions


https://dl.doubtnut.com/l/_5YizgnZYz5he
https://dl.doubtnut.com/l/_SJmrOtCbdTNp
https://dl.doubtnut.com/l/_1G3BLbQPGmYx

1.If 1-10, 11-20, 21-30, 31-40, ......, are the classes of a frequency distribution,

then the upper boundary of the class 31-40 is

° Watch Video Solution

2. If 1-5, 6-10, 11-15, ........ , are classes of a frequency distribution, then the

mid-value of class 11-15 is

° Watch Video Solution

3. In a class, seven students got 90 marks each, the frequency of the

observation 90 is

° Watch Video Solution

4.1f the lower boundary of a class is 35 and length of the class is 5, then

the upper boundary is

| e |


https://dl.doubtnut.com/l/_Md5ILcvgJwIY
https://dl.doubtnut.com/l/_ujRmlFutduDY
https://dl.doubtnut.com/l/_e7N48LcwGWtd
https://dl.doubtnut.com/l/_SGHj22wfcfyK

| & Watch Video Solution I

5.Range of the scores 27, 35,47, 36, 25 and x is 23, wher x < 25, then x is

° Watch Video Solution

6.1n a histogram, width of the rectangle represents of the class and

length of the rectangle represents of the class.

° Watch Video Solution

7. If the median of the scores 1,2,x,4 and 5 (where1 < 2 < x < 4 < 5)

is 3, then the mean of the scoresis

° Watch Video Solution



https://dl.doubtnut.com/l/_SGHj22wfcfyK
https://dl.doubtnut.com/l/_LWdsGlbGQtfc
https://dl.doubtnut.com/l/_87bZHLzrvSUq
https://dl.doubtnut.com/l/_MUvwvdAbz0Ng

8. In a less than cumulative frequency distribution, frequency and
cumulative frequency of a class are 10 and 20 respectively, then the

cumulative frequency of the previous class is

° Watch Video Solution

9. Mode of the scores 2,3,2,4,3,2,4,6 s

° Watch Video Solution

d
10. If the median of scores E, E, E, £an—m(where x > 0)is 6 , then
27345 6

find the value of % .

° Watch Video Solution

11. The coefficient of range of the scores 1,2,3,4 and 5 is

° Watch Video Solution



https://dl.doubtnut.com/l/_2vKf3o9CQVhX
https://dl.doubtnut.com/l/_OjQrCMSULUfL
https://dl.doubtnut.com/l/_7lNI8I0Aj1jr
https://dl.doubtnut.com/l/_LuQMFsEyAcSi

12. If sum of the 20 deviations from the mean is 100, then the mean

deviation is

° Watch Video Solution

13. If lower and upper quartiles of the data are x and y respectively, then

quartile deviation is

° Watch Video Solution

14. If mode and median of the certain scores are 2 and 2, then mean is

° Watch Video Solution



https://dl.doubtnut.com/l/_LuQMFsEyAcSi
https://dl.doubtnut.com/l/_D0nhFqvd4leK
https://dl.doubtnut.com/l/_ZuxYYgllPgLJ
https://dl.doubtnut.com/l/_0voGCdg8KSvl

15. If the mean of the scores x1, x5, T3, 4, xsandzg is X, then mean of

5x1, 59, T3, 5Ty, D5, anddzgis

° Watch Video Solution

16. If the mean of a,b and cis b, then a + cin terms of b is

° Watch Video Solution

17. If lower and upper quartiles of the data are 23 and 25 respectively,

then coefficient of quartile deviation is

° Watch Video Solution

18. Mode of certain scores is x. If each score is decreased by 3, then the

mode of the new series is

° Watch Video Solution



https://dl.doubtnut.com/l/_gNemcmvVCaZR
https://dl.doubtnut.com/l/_bTH8iYAP27pR
https://dl.doubtnut.com/l/_6PubyKdfMbjA
https://dl.doubtnut.com/l/_etSewxzdxO1w

19. If the mean of 2,4, 6,8,xand yis 5,then x +y is

° Watch Video Solution

20. Find the mean of the following:

101 943 822 12 d21
47 ) 47 ) 3’ an 3

° Watch Video Solution

21. Find the median of the following data:

2.0025, 2.0205, -2.06, -2.206 and -2.006

° Watch Video Solution

22.Find the median of the following data:

23,92,43,34,54,48,82,14,62 and 46

Y.



https://dl.doubtnut.com/l/_etSewxzdxO1w
https://dl.doubtnut.com/l/_0Y9yRsZf7kHq
https://dl.doubtnut.com/l/_mG1EM65QaG61
https://dl.doubtnut.com/l/_CZI4YZSLve9d
https://dl.doubtnut.com/l/_N4W5yhtPZ6LK

| ¥ VWvatch Video Solution J

23.If the strengths of 10 classes in a school are given as 28, 42, 25, 30, 45,

22, 25,34, 26 and 36, then find the median strength.

° Watch Video Solution

24, the mean of 8 observations was found to be 20. Later it was detected
that one of the observations was misred as 62. What is the correct

observation, if the correct mean is 15.5?

° Watch Video Solution

25.Find the coefficient of range of the scores 25, 30, 22, 34, 50, 56 and 67.

° Watch Video Solution



https://dl.doubtnut.com/l/_N4W5yhtPZ6LK
https://dl.doubtnut.com/l/_ynQASDGnBHnn
https://dl.doubtnut.com/l/_XLye2BxpXQnU
https://dl.doubtnut.com/l/_hpxBql2V5skA

26. If the median of 33, 28, 20, 25, 34, xz is 29 , find the maximum

possible value of z.

° Watch Video Solution

27.If the mode of scores 3, 4, 3, 5, 4, 6, 6, = is 4, find the value of z.

° Watch Video Solution

28.If the heights of five students in a class are 132 cm, 158 cm, 150 cm, 145

c¢m, and 155 cm, then find their mean height.

° Watch Video Solution

29. Find the median of the following data:

3 5 1 1 7 7
37, 3§, 35, 31, 3§and3ﬁ

° Watch Video Solution



https://dl.doubtnut.com/l/_jCYDWhLZzbMB
https://dl.doubtnut.com/l/_ERUrOL2aibyV
https://dl.doubtnut.com/l/_5WP2q4WdDfTk
https://dl.doubtnut.com/l/_ZW1U8nPwf5oq

30. Following are the runs scored by 11 members of a cricket team in a
test innings. Calculate the quartile deviation of the data.

20, 22,30, 32, 39, 41,42, 60, 62, 65 and 80

° Watch Video Solution

Short Answer Type Questions

1. If the mean weight of 10 students is 25 kg and the mean weight of

another 10 students is 35 kg, then the mean weight of 20 students is

° Watch Video Solution

2. Given below are the number of students in 30 class rooms in a school.

Construct a frequency distribution table for this data with a class interval


https://dl.doubtnut.com/l/_ZW1U8nPwf5oq
https://dl.doubtnut.com/l/_Z3WKD1gQbxkW
https://dl.doubtnut.com/l/_875TMpMRm4Y8
https://dl.doubtnut.com/l/_vk0Yt3ZGZZYq

of 4.

25 30 24 18 20 24 32 35 22 20
22 32 40 28 30 25 26 29 34 15
38 28 19 16 15 20 24 30 26 18

° Watch Video Solution

3. The average marks of 50 students of a class is 76. If the average marks

of all boys is 70 and that of all girls is 80 in that class, then find the

number of boys in the class.

° Watch Video Solution

4. The mean of 30 observations is 25. If two observations 30 and 60 are

misread as 20 and 40, then find the correct mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_vk0Yt3ZGZZYq
https://dl.doubtnut.com/l/_uSPbD17x0gLs
https://dl.doubtnut.com/l/_PoQME627wpp2

5. The mean expenditure of a person from Monday to Wednesday is
Rs.250, and the mean expenditure from Wednesday to Friday is Rs. 400.
If he spend Rs. 300 on Wednesday, find the mean expenditure of the
person from Monday to Friday.

A. Rs. 340

B. Rs. 330

C. Rs. 350

D. Rs. 360

Answer: B

o Watch Video Solution

6. The sum of deviations of n observations about 25 is 25 and sum of

deviations of the same n observations about 35 is -25. Find the mean of

the observations.

o Watch Video Solution



https://dl.doubtnut.com/l/_tQlsyf1BeTaz
https://dl.doubtnut.com/l/_KBHl5VORbvBs

7. If the sum of mode and mean of certain observations is 129 and the

median of the observations is 63, then find mode and mean.

o Watch Video Solution

8.The height (in cms) of 20 childre of class 9 is given, find the mean.

Height(in cm) Number of children
120 2
121
122
123
124
125

A S NI CUR

° Watch Video Solution



https://dl.doubtnut.com/l/_KBHl5VORbvBs
https://dl.doubtnut.com/l/_wQBwX1uy3eAt
https://dl.doubtnut.com/l/_yzNCbkZWzi3P

9. Find the median of the following distribution:

x f x f
10 2 30 4
20 3 40 5
50 6 80 3
60 5 90 3
70 4 100 1

o Watch Video Solution

10. Find the quartile deviation of the following data:

x f x f
2 4 13 2
3 6 17 4
5 8 19 6
79 23 6
11 10

° Watch Video Solution

11. Calculate the mean deviation for the following data about median.

15, 20, 16, 13,10, 11,18

| o WMl L\ C Al ikl n


https://dl.doubtnut.com/l/_QtVj4J885ADQ
https://dl.doubtnut.com/l/_Aax836S8s8SB
https://dl.doubtnut.com/l/_sDAe3UFWCopO

& ___ryvalillil VIUCU JViutuiviil )

12. Draw a histogram for the following data:

Class Interval f

0-5 2
5—10 10
10 — 15 8
15— 20 6
20 — 25 4

o Watch Video Solution

13. Draw the frequency polygon for the following data by drawing a

histogram:

Class Interval f
0—-5 10
5—10 20
10 — 15 15
15— 20 30
20 — 25 32
25 — 30 44

° Watch Video Solution



https://dl.doubtnut.com/l/_sDAe3UFWCopO
https://dl.doubtnut.com/l/_dqEs0IphB6PB
https://dl.doubtnut.com/l/_CDXlN8X3PVQr

14. If the mean of the following data is 26, then find the missing frequency

X.

Class Interval f
0—-10 4
10 — 20 X
20 — 30 9
30 — 40 5
40 — 50 6

° Watch Video Solution

Essay Type Question

1. Find the AM of the following data by short-cut method.
Class Interval f

1-5 5
6 — 10 10
11 — 15 15
16 — 20 10
21 - 25 5

° Watch Video Solution



https://dl.doubtnut.com/l/_H4ajKDbB8Kup
https://dl.doubtnut.com/l/_9FMo81mCdjc6
https://dl.doubtnut.com/l/_WwIJSHoITivF

2. Find the quartile deviation for the following grouped data.
Class Interval f

0—-4 1
5—9 3
10 — 14 2
15-19 4
20 — 24 )
25— 29 3
30 — 34 2
35— 39 4
40 — 44 3
45 — 49 3

° Watch Video Solution

3. Find the mode of the following distribution given below.

Class Interval f

0—-19 12
20 — 39 20
40 — 59 23
60 — 79 22
80 — 99 13

° Watch Video Solution



https://dl.doubtnut.com/l/_WwIJSHoITivF
https://dl.doubtnut.com/l/_JCHL9IDDeIx3

4. Calculate the mean deviation about mean for the following data.

Class Interval f

10 — 14 )
15—-19 6
20 — 24 3
25— 29 10
30 — 34 4
35— 39 15
40 — 44 8
45 — 49 10

o View Text Solution

5. Draw the frequency curve for the following data.

Class Interval f

2-5 12
5—38 8
8§ —11 8
11 - 14 6
14 — 17 10
17 — 20 9

° Watch Video Solution



https://dl.doubtnut.com/l/_faMf9FT6HvzA
https://dl.doubtnut.com/l/_q7P1vpYvaXbU

5
1. If the mean of first n natural numbers is 771 ,thenn = (a)5(b) 4 (c) 9

(d) 10
A5
B.4
C.9

D. None of these

Answer: C

o Watch Video Solution

2. Mean of a certain number of observations is z. If each observation is
divided by m(m # 0) and increased by n, then the mean of new

observation is

Amr +vy


https://dl.doubtnut.com/l/_N9d3Fn00LHO7
https://dl.doubtnut.com/l/_SMZs0IMv28ny

me +
g 2 TY

m-+x
Ty

D.m + xy

Answer: C

° Watch Video Solution

3. If the difference of mode and median of a data is 24, then the

difference of median and mean is (a) 12 (b) 24 (c) 8 (d) 36

A 12

B. 24

C.8

D. 36

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SMZs0IMv28ny
https://dl.doubtnut.com/l/_DnPLIx7JhTAe

4. The mode of observations 2x + 3,3x-2,4x+3,x-1,3x-1,5x+ 2 (x is a

positive integer) can be

A3

B.5

C.7

D.9

Answer: C

o Watch Video Solution

5. The median of 21 observations is 18. If two observations 15 and 24 are

included to the observations, then the median of the new series is

A 15

B.18


https://dl.doubtnut.com/l/_DnPLIx7JhTAe
https://dl.doubtnut.com/l/_kVQMu4YpuiJe
https://dl.doubtnut.com/l/_b0OXYdoeTsOw

C. 24

D.16

Answer: B

o Watch Video Solution

6. If the quartile deviation of a set of observations is 10 and the third

quartile is 35, then the first quartile is

A 24

B.30

D.15

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_b0OXYdoeTsOw
https://dl.doubtnut.com/l/_E2ZNJm3idJWJ
https://dl.doubtnut.com/l/_L1hJY3yCpCEJ

7.The lower class limit of inclusive type class interval 10-20.

A.10.5

B. 20

C. 205

D.10

Answer: D

o Watch Video Solution

8. The semi-inter quartile range of the observations 9, 12, 14, 6, 23, 36, 20,

7,42 and 32 is

A.12.75

B.12.5

C. 115

D.9.5


https://dl.doubtnut.com/l/_L1hJY3yCpCEJ
https://dl.doubtnut.com/l/_WOHVklAm2fEj

Answer: C

° Watch Video Solution

9. Find the mode of the following discrete series.

z f z f
1 5 6 8
3 7 12 6
5 3 15 5

A.3

B.12

C.8

D.6
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WOHVklAm2fEj
https://dl.doubtnut.com/l/_K0CgMvOrWFGh

10. The mean deviation of a® + b®anda® — b® (where a and b > 0)

B. b°
C.2a°

D. 2b°

Answer: B

o Watch Video Solution

11. If the arithmetic mean of the observations x1, =4, 23, ....... S, Xy IS 1,
then the arithmetic mean of ?1, ?2, ?3, ...... , ?n(k > 0) is

A. greater than 1.

B. less than 1.

C.equal to 1.


https://dl.doubtnut.com/l/_no0GiUJLReGI
https://dl.doubtnut.com/l/_L9AYp7Im1Fxu

D. None of these

Answer: D

° Watch Video Solution

12. Range of 14,12,17,18,16 and x is 20. find x (x > 0).

A2
B. 28
C.32

D. Cannot be determined

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_L9AYp7Im1Fxu
https://dl.doubtnut.com/l/_l6roHx8xA88n

13. The mean of a set of observation is a. If each observation is multiplied
by b and each product is decreased by c, then the mean of new set of

observations is

Answer: B

o Watch Video Solution

14. The mean deviation of first 8 composite numbers is

A. 29375

B.4.83

C.5315


https://dl.doubtnut.com/l/_SIHIrdj4CDWl
https://dl.doubtnut.com/l/_m9eQUOEbY584

D. 3.5625

Answer: A

° Watch Video Solution

15. Find the mode of the following discrete series.

z f z f
1 5 5 12
2 4 6 3
3 6 7 9
4 8 8 10

A 4

B.8

C.5

D.7
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_m9eQUOEbY584
https://dl.doubtnut.com/l/_wtezznBupBBH

16. The the highest score of certain data exceeds its lowest score by 16
1
and coefficient of range is —. Find the sum of highest score and the

lowest score.

A. 36
B. 48
C. 24

D.18

Answer: B

o Watch Video Solution

17. Find the mean deviation (approximately) about the mode for the

following ungrouped data: 20, 25, 30, 18, 15, 40.

A.6.71

B.4.52


https://dl.doubtnut.com/l/_xmxgXSqpl7lq
https://dl.doubtnut.com/l/_vlaLTOfgExjm

C.7.61

D.533

Answer: C

o View Text Solution

2

18. The mean of first n odd natural numbers is % ,thenn = (a) 9 (b) 81

(c) 27 (d) 18

A.9
B. 81
C.27

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vlaLTOfgExjm
https://dl.doubtnut.com/l/_qje4XrtnaH5H
https://dl.doubtnut.com/l/_YNrPfbWakxxa

19. The arithmetic of 12 observations is 15. If two observations 20 and 25

are removed then the arithmetic mean of remaining observations is

A.14.5

B.13.5

C.125

D.13

Answer: C

o Watch Video Solution

20. The arithmetic mean and mode of a data are 24 and 12 respectively,

then its median is (a) 25 (b) 18 (c) 20 (d) 22

A. 20

B.18

C.20


https://dl.doubtnut.com/l/_YNrPfbWakxxa
https://dl.doubtnut.com/l/_9ttt5Io1CXDn

D. 22

Answer: C

° Watch Video Solution

21. The inter-quartile range of the observations 3, 5, 9, 11, 13, 18, 23, 25, 32

and 39 is

A 24

B.17

C.31

D.8

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_9ttt5Io1CXDn
https://dl.doubtnut.com/l/_piumsTDxwHfS

22. Find the mean deviation from the mode for the following ungrouped

data: 2.5,6.5,7.3,12.3,16.2.

A 434

B. 5.57

C.233

D.6.72

Answer: B

o View Text Solution

23.If the mean of the following frequency distribution is 5, then b =

{:(x_(i) " :",3,5,7,4),(f ()" :",2,a,5,b):}

A.10

B.6

C.8


https://dl.doubtnut.com/l/_EnV7uPaqsQ0G
https://dl.doubtnut.com/l/_pDwgEYEdj7rq

D. None of these

Answer: B

° Watch Video Solution

b —-b
24.The mean deviation of a —; and a4 5 (where a and b ‘gt 0) is

N
2

(CY S

D.b

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pDwgEYEdj7rq
https://dl.doubtnut.com/l/_eQ6MDar0R7bm

25. If the mean of x + 2, 2x + 3,3x + 4 and 4x + 5 is ¢ + 2, then find

the value of z.

A0

B.1

D.2

Answer: C

o Watch Video Solution

26. The range of 15, 14, =, 25, 30, 35 is 23. Find the least possible value

of x.

A 14

B.12

C.37


https://dl.doubtnut.com/l/_FmmfF1wxLXeO
https://dl.doubtnut.com/l/_cfyAmulaCzJu

D.11

Answer: B

° Watch Video Solution

27.Find the median of the following data.
Class Interval f

0-—10 12
10 — 20 13
20 — 30 25
30 — 40 20
40 — 50 10
A. 25
B. 23
C.24
D. 26
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cfyAmulaCzJu
https://dl.doubtnut.com/l/_fkQm3oxnfYMX

28.In the following table, pass percentage of three schools from the year
2001 to the year 2006 are given. Which school students' performance is

more consistent?

2001 2002 2003 2004 2005 2006
School X 80 89 79 83 84 65
School Y 92 94 76 75 80 63
School Z 93 97 67 63 70 85

A X
B.Y
C.z

D.XandY

Answer: A

o View Text Solution

29. The Median of the following discrete series is

z; 36 5 8 12 7
£ 52467 6


https://dl.doubtnut.com/l/_fkQm3oxnfYMX
https://dl.doubtnut.com/l/_JCCKWY5wufIt
https://dl.doubtnut.com/l/_RPJiUm3orIfI

A7

B.8

C.9

D.6

Answer: A

o Watch Video Solution

30. Which of the following does not change for the observations 23, 50,

27,2x,48, 59,72, 89, 5x, 100, 120, when x lies between 15 and 20?

A. Arithmetic mean

B. Range

C. Median

D. Quartile deviation

Answer: B



https://dl.doubtnut.com/l/_RPJiUm3orIfI
https://dl.doubtnut.com/l/_MWGHz3A5RiCq

| ° View Text Solution

1. If the ratio of mean and median of a certain data is 2:3, then find the

ratio of its mode and mean.

A.4:3

B.7:6

C.7:8

D.5:2

Answer: D

° Watch Video Solution

2. If the mean of the following distribution is 13, then p =

z;: 5 10 12 17 16 20
f: 93 P 8 7 5


https://dl.doubtnut.com/l/_MWGHz3A5RiCq
https://dl.doubtnut.com/l/_QBp6QF7wAXZJ
https://dl.doubtnut.com/l/_Gs5g2t8PzeIy

A 6

B.7

C.10

D.4

Answer: B

o Watch Video Solution

3. If the ratio of mode and median of a certain data is 6:5, then find the

ratio of its mean and median.

A.8:9

B.9:10

C.9:7

D.8: 1

Answer: B



https://dl.doubtnut.com/l/_Gs5g2t8PzeIy
https://dl.doubtnut.com/l/_mYIwudGaIZVQ

| ° Watch Video Solution

4.1f the arithmetic mean of the following distribution is 8.2, then a =

z; 1 35 9 11 13
£ :327a4 8

A b

B.6

c.9

D. None of these

Answer: B

o Watch Video Solution

5. The median of the series 8, 12, 15, 7, x, 19, 22 lies in the interval

A. [12,15]

B. [7, 15]


https://dl.doubtnut.com/l/_mYIwudGaIZVQ
https://dl.doubtnut.com/l/_uGNNZ7yNYwHm
https://dl.doubtnut.com/l/_AAflmjlNWJRi

C.[15,17]

D.[9, 12]

Answer: A

° Watch Video Solution

6. The mode of the following distribution is

{("Class interval"[f),(" "1-5,4),(" "6-10,7),(" "11-15,10),(" "16-20,8),(" "21-25,6):}

A.14.5

B.16.5

C.10.5

D.13.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AAflmjlNWJRi
https://dl.doubtnut.com/l/_RZbIgkF8RIEu
https://dl.doubtnut.com/l/_KeRTtUmkIx1V

7.The mean of the following data is

{("Class interval"f),(" "10-15,5),(" "15-20,7),(" "20-25,3),(" "25-30,4),(" "30-35,8):}
A. 22
B. 23.05
C.24.05

D. 27.05

Answer: B

o Watch Video Solution

8. The median of the following frequency distribution is

Class interval f

0-—10 5
10 — 20 8
20 — 30 7
30 — 40 10
40 — 50 20

A.35


https://dl.doubtnut.com/l/_KeRTtUmkIx1V
https://dl.doubtnut.com/l/_EU9KH12nenpf

B.30

C.40

D. 45

Answer: A

° Watch Video Solution

9.Find the quartile deviation of the following discrete series.

z 7548 12 10
F24610 9 7

A. 6.5

B.4.5

C.35

D.25

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EU9KH12nenpf
https://dl.doubtnut.com/l/_NNsay4VX9Aik
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Find the number of students who scored less than or equal to 50% if

marks.

A.35
B.15
C.20

D. 30

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_NNsay4VX9Aik
https://dl.doubtnut.com/l/_UTWmKHsNlDp1
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Find the number of students who scored greater than or equal to 90% of

marks.

A 47
B.45
C.5

D.10

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_UTWmKHsNlDp1
https://dl.doubtnut.com/l/_Vnq5sZWTfhAM

12. In a class of 15 students, on an average, each student got 12 books. If
exactly two students received same number of books, and remaining
student books average be an integer then which of the following could
be the number of books received by each of the two students who

received same number of books? 1.) 11 2.) 15 3.) 20 4.) 25

A1
B.15
C.20

D. 25

Answer: D

o Watch Video Solution

13. Find the quartile deviation of the following discrete series.

z 356 8 10 12
F 72345 6



https://dl.doubtnut.com/l/_Vnq5sZWTfhAM
https://dl.doubtnut.com/l/_YO5x5XTf0bT5
https://dl.doubtnut.com/l/_jnzz4Nqs1YA0

A 4

B.3

C.35

D.4.5

Answer: C

o Watch Video Solution

Weight(in kg) Number of students

20 8

22 4
14.

24 3

25 7

30 5

Find the mean deviation (approximately) about the median for the above

data.

A .25

B.15


https://dl.doubtnut.com/l/_jnzz4Nqs1YA0
https://dl.doubtnut.com/l/_vYYW0YNMngyY

C.3

D.0.5

Answer: D

° Watch Video Solution

15. Find the mean deviation (approximately) about the mean for the

following.

Class interval f

0—-5 3
5—0 4
10 — 15 8
15— 20 10
20 — 25 5
A5
B.4
C.6

D.3


https://dl.doubtnut.com/l/_vYYW0YNMngyY
https://dl.doubtnut.com/l/_YaUCKl8JOhrS

Answer: A

o Watch Video Solution

16. If the average mark of 15 students is 60 and the average mark of

another 10 students is 70, then find the average mark of 25 students.

The following are the steps involved in solving the above problem.

Arrange them in sequential order.

1600 64
25

(B) The total marks of 15 students = 15 x 60 = 900

(A) Average marks of 25 students =

The total marks of 10 students = 10 x 70 = 700

(C) The total marks of 25 students =900 + 700 = 1600

A.BCA

B. BAC

C.CBA

D. CAB


https://dl.doubtnut.com/l/_YaUCKl8JOhrS
https://dl.doubtnut.com/l/_htiF6HLV7g2w

Answer: A

o Watch Video Solution

17.1n a class of 25 boys and 20 girls, the mean weight of the boys is 40 kg
and the mean weight of the girls is 35 kg. Find the mean weight of the
class.

The following are the steps involved in solving the above problem.
Arrange them in sequential order.

(A) The total weight of 25 boys = 25 x 40 = 1000 kg

The total weight of 20 girls = 20 x 35 = 700 kg

1
(B) The mean weight of the class = ﬂ = 37z kg

45 9
(C) The total weight of 45 students = 1000 kg + 700 kg = 1700 kg

A. ABC

B. ACB

C.BCA

D. CBA


https://dl.doubtnut.com/l/_htiF6HLV7g2w
https://dl.doubtnut.com/l/_Iz2kfZfMQpUC

Answer: B

° Watch Video Solution

18. If p < q < 2p, the median and mean of p, q and 2p are 36 and 31

respectively, then find the mean of p and q.

A. 215

B. 23

C.275

D. 24

Answer: C

° Watch Video Solution

19.If x < y < 2z, the median and the mean of x, y and 2x are 27 and 33

respectively, then find the mean of x and y.


https://dl.doubtnut.com/l/_Iz2kfZfMQpUC
https://dl.doubtnut.com/l/_QJqXjVaq0Igh
https://dl.doubtnut.com/l/_GDc8BYTHvn59

A. 235

B. 24

C.23

D. 25.5

Answer: D

o Watch Video Solution

20. The mean of a set of 12 observations is 10 and another set of 8

observations is 12. The mean of combined set is

AT

B.10.8

C.11.2

D.0.6

Answer: B



https://dl.doubtnut.com/l/_GDc8BYTHvn59
https://dl.doubtnut.com/l/_Vu6Ju5RGfbaE

| o Watch Video Solution

1. A Class of 40 students is divided into four groups named as A, B, C and

D. Group-wise percentage of marks scored by them are given below in the

table.

A B C D
20 42 10 21
30 51 25 69
40 45 8 70
25 58 T3 86
22 53 98 53
45 64 43 68
65 72 64 99

By using the coefficient of range find which of the group has shown good

performance.

A A

B.B

C.C


https://dl.doubtnut.com/l/_Vu6Ju5RGfbaE
https://dl.doubtnut.com/l/_Wh9Q78IVUDnl

D.D

Answer: B

o Watch Video Solution

2. Life (in hour) of 10 bulbs from each of four different companies A, B, C

and D are given below in the table.

A B C D

120 700 950 530
1600 502 330 650
280 1430 1200 720
420 625 500 550
800 780 445 748
770 335 1260 570
270 224 375 635
455 1124 1130 804
150 473 185 500

By using the coefficient of range find which company has shown the best

consistency in its quality?

A A

B.B


https://dl.doubtnut.com/l/_Wh9Q78IVUDnl
https://dl.doubtnut.com/l/_9AHN5HBe66V3

C.C

D.D

Answer: D

o Watch Video Solution

3.If the mode of the observations 5,4, 4, 3,5, x, 3,4, 3,5,4,3and 5 is 3,

then find the median of the observations.

A3

B.4

C.5

D.3.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9AHN5HBe66V3
https://dl.doubtnut.com/l/_zPcI4SAkHEn6
https://dl.doubtnut.com/l/_AolaNjE3RijB

4.1n a colony, the average age of the boys is 14 years and the average age
of the girls is 17 years. If the average age of the children in the colony is
15 years, find the ratio of number of boys to that of girls.

Al:2

B.2:1

C.2:3

D.3:2

Answer: A

o Watch Video Solution

5. Find the median of the following data.

{:("Class Interval"f),(" "0-4,3)(" "4-8,6)(" "8-12,6),(" "12-16,6),(" "16-20,8):}

A.13

B.12


https://dl.doubtnut.com/l/_AolaNjE3RijB
https://dl.doubtnut.com/l/_Oe5JbmTgbOsj

D.10

Answer: C

° Watch Video Solution

6. In a class of 20 students, 10 boys brought 11 books each and 6 girls
brought 13 books each. Remaining students brought atleast on book
each and no two students brought the same number of books. If the
average number of books brought in the class is a positive integer, then
what could be the total number of books brought by the remaining

students?

A 12

B.16

D.8


https://dl.doubtnut.com/l/_Oe5JbmTgbOsj
https://dl.doubtnut.com/l/_F2DCXYVNSgeb

Answer: A

° Watch Video Solution

7. The mean of a set of 20 observations is 8 an another set of 30

observations is 10. The mean of combined set is

A 9.2

B.10.8

C.11.2

D.9.8

Answer: A

° Watch Video Solution

8. Find the approximate value of mean deviation about the mode of the

following data.


https://dl.doubtnut.com/l/_F2DCXYVNSgeb
https://dl.doubtnut.com/l/_cGD3hdtrEciC
https://dl.doubtnut.com/l/_yZ6mmdWHC4UK

{:("Class Interval"f),(" "0-10,4),(" "10-20,6),(" "20-30,3),(" "30-40,9),(" "40-50,5):}

A 11.5

B.12.5

C.135

D.14.5

Answer: B

o Watch Video Solution

9. The mean of the following distribution is 4. Find the value of q.

r 2 3 4 5 7
f 44 2 3 ¢q

A2

B.3

C.0

D.4


https://dl.doubtnut.com/l/_yZ6mmdWHC4UK
https://dl.doubtnut.com/l/_LH74zlXajNLu

Answer: B

° Watch Video Solution

10. If the ratio of mean and median of a certain data is 5 : 7, then find the

ratio of its mode and mean.

A2:5

B.11:5

C.6:5

D.2:3

Answer: B

° Watch Video Solution

11. Find the mode of the following discrete series.

z 123 456 7 89
f 381519 12 14 5 7


https://dl.doubtnut.com/l/_LH74zlXajNLu
https://dl.doubtnut.com/l/_PDVQAvuWG0HB
https://dl.doubtnut.com/l/_DJXSwjT1ELU2

A7

B.5

C.2

D.3

Answer: D

o Watch Video Solution

12. Find the median of the following data.

{:(x,12,15,18,21,24),(f4,7,2,3,4):}

A 12

B.16

D.15

Answer: D



https://dl.doubtnut.com/l/_DJXSwjT1ELU2
https://dl.doubtnut.com/l/_o6QWvFOT00SS

| ° Watch Video Solution

13. Find the mean deviation about the median for the following data.

z 1 2 3 4 5 6
f 3 75 8 25

Al

I

B. 0.

Cc.3

Wl

D. 1.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_o6QWvFOT00SS
https://dl.doubtnut.com/l/_m2uwMY1oZRFN

14. Find the mode for the following data.

Class Interval f
0—-9 2
10 — 19
20 — 29
30 — 39
40 — 49

[ ) B

A. 30

B.25.5

C. 32

D. 33

Answer: B

o Watch Video Solution

15. Find the quartile deviation of the following discrete series.

z 8 10 13 16 19 22
F47 8 3 5 4

A 3.5


https://dl.doubtnut.com/l/_1NKNChGawiu0
https://dl.doubtnut.com/l/_vdylmQkHHmmp

B.6

C.5

D.4.5

Answer: D

° Watch Video Solution

16. Find the arithmetic mean of the observations

x+5z+6,z+ 10,z + 11,z + 14,z + 20 (where x is any real

number).

Az +11

B.z +5

Cx—+13

D.x +7

Answer: A

[ - ]


https://dl.doubtnut.com/l/_vdylmQkHHmmp
https://dl.doubtnut.com/l/_MxawxxiRMs7D

| @J Watch Video Solution J

17. Find the mode of the following discrete series.

x 123 456 7 89
f 38119 12 14 5 7

AT

B.5

C.2

D.3

Answer: D

° Watch Video Solution

18. Find the mean of the following continuous distribution.

{("Class Interval"f),(" "0-10,8),(" "10-20,4),(" "20-30,6),(" "30-40,3),(" "40-50,4):}

A.20.8



https://dl.doubtnut.com/l/_MxawxxiRMs7D
https://dl.doubtnut.com/l/_JGm6ob9vmtjB
https://dl.doubtnut.com/l/_V1BiNooNcbx1

B.214

C.218

D. 222

Answer: B

° Watch Video Solution

19. Which of the following is not changed for the observations

31, 48, 50, 60, 25, 8, 3x, 26, 32? (where x lies between 10 and 15).

A. Arithmetic mean

B. Range

C. Median

D. Quartile deviation

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_V1BiNooNcbx1
https://dl.doubtnut.com/l/_6puMC1IdSue5



https://dl.doubtnut.com/l/_6puMC1IdSue5

